[ AR B4 (Bl DB

202154A1H

BRI S0T—4

(  20214%5H  #H®EtoEA )
TROBYARKEERESEMESMOSEELET,
Rl EHEEE - -3350 F/m3  [FiA])
WM 202145H
(BE])
[FEMEEE TR - 20205128 ~ 202142H
Mo -YUREHESE 45,670 A/t [Fitk])
(b Y=Y EHEEETE DRHIRELDLNG LPGEIA S E H KU EAEK)
ELAEF R (F) 83,350
LNG(M) LPG(H)
20204E12H ~2021482 8 1§ 44,960 56,070

b Y=Y REHEE D EE
(FtER#L]

ko Y =ULNGEHHEE X 0.9576 + b & 1-ULPGI{HEE % 0.0466

44,960 F4/tx0.9576
45670 M/t (1OGIZEUERA)

[RFMER EBNERDRE :
(FtEARHL)
b B =Y R — B T RS

-37,600 A/t (100K ETE)

R EREEMmIBH-YRBEBDEE:

[FtERHL]

BEEMARZETEXE = 100 x 0.0891

= -37,600 F4/t=100x0.0891=
SHEFA (0.081 % 1.1)

UNAEMEFYIVEET)

HENEHEMmOEE PR

+ 56,070 M/t x0.0466

-33.50 H/m3

45,670 M/t - 83,350 M/t = -37,680 F/t

Bt



